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QUESTION 1

A DBA wants to know which commands have been executed through the SQL Admin API. What is the correct action? 

A. Use the built-in tasks in the sysadmin database. 

B. Query the ph_run table in the sysadmin database. 

C. Query the ph_task table in the sysadmin database. 

D. Query the command_history table in the sysadmin database. 

Correct Answer: D 

 

QUESTION 2

Which one of the following is most suitable for scheduling the periodic collection of data about an instance? 

A. Sensor 

B. Trigger 

C. Stored Procedure 

D. User Defined Routine 

Correct Answer: A 

 

QUESTION 3

In which database does Informix store the information when a new task is created in OpenAdmin Tool\\'s Task
Scheduler? 

A. sysutils 

B. sysusers 

C. sysadmin 

D. sysmaster 

Correct Answer: C 

 

QUESTION 4

Which of the following is true about star schemas? 

A. A star schema is optimal for OLTP systems. 
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B. A star schema is also known as a 3rdNormal Form schema. 

C. A star schema is associated with master-detail relationships between tables. 

D. A star schema is not necessarily a snowflake schema, but a snowflake schema is always a star schema. 

Correct Answer: D 

 

QUESTION 5

Which command listed below can be used to change the state of an operating Informix server? 

A. oninit 

B. onstat 

C. onmode 

D. onparam 

Correct Answer: C 
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